
Math 4e. Class work 1.  

How to solve problems. 

 There are a total of 12 tricycles and bicycles in the kid’s store. All 

have 27 wheels. How many bicycles and tricycles are in 

the store?  

What we have to do to solve this problem? We don’t yet know how to 

create equations, and how to solve them. But we do have necessary 

knowledge to find an answer for the question. 

If all of them would be bicycles, we will have 

12 ∙ 2 = 24 𝑤ℎ𝑒𝑒𝑙𝑠 

But there are 27 wheels. It means that  

27 − 24 = 3 𝑤ℎ𝑒𝑒𝑙𝑠 

 are need to be added, three cycles have three, not two wheels.  

Similarly, we can first, suppose that all are tricycles, the number of wheels will be 

12 ∙ 3 = 36 𝑤ℎ𝑒𝑒𝑙𝑠. 

We have  

36 − 27 = 9 𝑚𝑜𝑟𝑒 𝑤ℎ𝑒𝑒𝑙𝑠  

It means, nine bicycles 3,have only two wheels.  

Another problem: 

Mary brought 5 parrots and 3 canaries from the store. Parrots were twice as 

expensive as canaries, she said. And if she bought 5 canaries and 3 parrots, she 

would spend $20 less. What is the price for canary? We can even draw the 

problem: 
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 We can see that two canaries are $20. Therefore, one canary is $10.  

  

Read the following “word problems”. What can you tell about each of them? Try 

to solve them. 

a) Jessica is older than Sam, Ann is older than Jessica, and Robert’s age is same 

as Sam’s. Who is the oldest? 

  

b) Mike has 25 cards; John has 5 cards more than Mike. How many cards do John, 

Mike and Robert have altogether? 

 

c) On a farm there were 6 cows and 20 sheep. Each cow gives 4 gallons of milk 

every day. How many farm animals were there on the farm? 

 

d) In a math class 10 students were solving problems. Each student solved exactly 

5 problems. How many students did solve 7 problems? 

 

e) In a math class 10 students were solving problems. Each student solved at least 

5 problems. How many students did solve 7 problems? 

 

f) Two circles touch at a single point (tangent circles). One has radius of10 cm and 

the other has radius of 6 cm. What is the distance between the centers of these 

circles?  
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Exercises: 

 

1. A dog weighs 2 pounds more than a cat. Together, a dog and a cat weigh 12 
pounds. How many pounds does the dog weigh? How many pounds does the cat 
weigh? 

 

 

 

         

2. An adult elephant weighs 10833 pounds more than a baby elephant. 

Together they weigh 32037 pounds.  How many pounds does a 

baby elephant weight?  

Draw a schematic picture of the problem if it can help you. 

 

3. In a lake there are 4 times as many trout as bass. There are 1585 bass and trout 

altogether. How many trout and how many bass there are in the lake? 

 

4. Solve the following equations: 

Example; 

 

a) 𝑥 − 14 = 28 

b) 4 − 𝑦 = 7 

 

5. There are 93 students in the 1st, 2nd and 3rd grades altogether.  



The number of students in the 1st and 2nd grades is 62, and in 2nd and 3rd 

grades is 64. How many students are there in each grade?  

 

6. Replace the addition with multiplication: 
 

Example: 

 

a. 35 + 35 + 35 + 35 + 35; 

b. 120 + 120 + 120 + 120 

c. 𝑎 + 𝑎 + 𝑎 + 𝑎 + 𝑎 + 𝑎 + 𝑎 + 𝑎; 

d. 𝑥 + 𝑥 + 𝑥 + 𝑥 + 𝑥;      

e.  

 

f. 
 
 
g.  

 

h.  

  

7. Nine 1-digit numbers (1, 2, 3, 4, 5, 6, 7, 8, 9) should be placed into the boxes so 

that all equalities hold. 
 

 

 

 

8. Compare without doing calculations (put <, >, or =): 

 

a. 2453 + 235   _____   2453 + 236 

b. 2341 − 123   _____   2341 − 122 

c. 234 × 123   _____   234 × 122 

d. 456 ÷ 4   _____   456 ÷ 3 

e. 𝑎 ÷ 4   _____   𝑎 ÷ 3 

f. 𝑏 + 235   _____   𝑏 + 236 
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9. Fill the empty spaces: 

  

 

 

 

   

 

10.  Look at the squares with points during 10 seconds. Cover the upper part of the 

picture and draw point in the empty squares.   

 

 

 

 

 

 

 

 

 

 

11.  Divide each of the figure below into two equal part along the grid.  

 

 

 

 

 

 

12. “How old are you?”  Mary asked Alex. 

“If my age is tripled and then reduced by 16, I would be 17.” answered Alex.  How 

old is Alex? 

 

13. There are 100 steps between first and fifth floor. How many steps between floors 

(there is equal number of steps between each floor)? 

 

a.) b.) 


